[ Efficiency vs vertpos |
- 05

20.45
(2]

Z 04

0.35
0.3

0.25
0.2

0.15

efficiency

Ratio

AR B AR LR AR RARRN LARLE LA

0.95

102 107 1

10 0?
TP vertr (cr%)

—=— DQMstep3_QCD_CKF

— —e— DQMstep3_QCD_default
Efficiend _,__ pomstep3 QcD_ckiPixelLess

~ 0.5

S R S
0 E : : :
L ST A S S
> F . . H
8 E N H H
O S J
3} E : : :
£ 03
(] = . . .

0.2F -+ oeees it
0.15F -+ ﬂ ------ oo
0.0 --oemeeee { -------- B
0.05F -+ -------------------

P S S T ——

...................

__g__,,__ﬂ ________

N n.ﬂ}}&ﬁ;}é&}#ﬁW_L,Eiﬁjﬁiﬁi

10 20 30
TP vert z (cm)

~N 0.5
>
80.45
S
D 0.4
20.35

&
c 0.3
)
Q

0.95,

0 =15 =10 =5 0

510 15 20
Sim. PV z (cm)




	Contents
	Page 1


